

City of Kettering Bid Tabulations 02-290 Oak Creek Improvements Phase 3

Description: Acct **#**5211-77750

				Engineer's	Estimate	• •	onstruction Co.	(2) LJ DEWEE	ESE CO., INC
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
Section 1: Def	ault Section								
0010 CONCRETE C	202-2000 URB REMOVED	FOOT	9,738.00	\$10.000	\$97,380.00	\$10.250	\$99,814.50	\$11.350	\$110,526.30
0020 CONCRETE F	202-3024 LATWORK REM	SF OVED (12" & UNDI	44,580.00 ER)	\$2.200	\$98,076.00	\$2.600	\$115,908.00	\$2.000	\$89,160.00
0030 EXCAVATION,	203A-1014 12" MAXIMUM	SY DEPTH, AS PER PI	150.00 LAN	\$20.000	\$3,000.00	\$20.000	\$3,000.00	\$25.000	\$3,750.00
0040 PAVEMENT PI	254-1000 LANING, ASPH	SY ALT CONCRETE	57,551.00	\$1.500	\$86,326.50	\$1.300	\$74,816.30	\$1.300	\$74,816.30
0050 NON-TRACKII	407-2000 NG TACK COAT	GAL	5,755.00	\$2.500	\$14,387.50	\$2.000	\$11,510.00	\$2.100	\$12,085.50
0060 ASPHALT CON	441-1130 NCRETE SURFA	TON CE COURSE, TYPE	1,913.00 1 (448), PG64-22 (1	\$68.000 .25")	\$130,084.00	\$67.000	\$128,171.00	\$68.000	\$130,084.00
0070 ASPHALT CON	441-1100 NCRETE SURFA	TON CE COURSE, TYPE	2,741.00 1 (448), PG64-22 (1	\$65.000 .5")	\$178,165.00	\$67.000	\$183,647.00	\$68.000	\$186,388.00
0080 ASPHALT CON	441-1000 NCRETE INTER	TON MEDIATE COURSE,	1,530.00 TYPE 1 (448), (1")	\$65.000	\$99,450.00	\$67.000	\$102,510.00	\$68.000	\$104,040.00
0090 3" DRAIN TILI	605B-1030 E, SCHEDULE 4	FOOT 40 PVC	100.00	\$25.000	\$2,500.00	\$5.000	\$500.00	\$6.000	\$600.00
Rid Tabulations	: 02-290 Oak C	Creek Improvement	ts Phase 3	Page	1 of 7				02/22/2018

				Engineer's	Estimate	(1) RA Miller Construction Co. Inc.		(2) LJ DEWEESE CO., INC	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0100 4" CONCRETE	608A-1051 SIDEWALK, IN	SF NCLUDING RES	11,612.00 STORATION, AS PER P	\$5.000 LAN	\$58,060.00	\$5.500	\$63,866.00	\$5.500	\$63,866.00
0110 6" CONCRETE	608A-2051 SIDEWALK, IN	SF NCLUDING RES	7,312.00 STORATION, AS PER P	\$6.000 LAN	\$43,872.00	\$5.700	\$41,678.40	\$5.750	\$42,044.00
0113 DETECTABLE	608A-3083 WARNING, AS	SF PER PLAN	414.00	\$25.000	\$10,350.00	\$39.000	\$16,146.00	\$35.000	\$14,490.00
0120 6" CONCRETE	608A-2161 DRIVE APPRO	SF ACH, INCLUD	20,274.00 NG RESTORATION, A	\$6.000 S PER PLAN	\$121,644.00	\$5.700	\$115,561.80	\$5.750	\$116,575.50
0140 6" CONCRETE	608A-3051 CURB RAMP, I	SF INCLUDING RE	5,382.00 STORATION, AS PER	\$7.000 PLAN	\$37,674.00	\$6.650	\$35,790.30	\$7.000	\$37,674.00
0150 CONCRETE C	609-1051 URB AND GUT	FOOT FER, IN KIND,	9,738.00 INCLUDING RESTORA	\$25.000 ATION, AS PER PI	\$243,450.00 LAN	\$26.600	\$259,030.80	\$25.000	\$243,450.00
0160 MANHOLE AD	611-2810 JUSTED TO GF	EACH RADE, TYPE 1	10.00	\$250.000	\$2,500.00	\$286.000	\$2,860.00	\$275.000	\$2,750.00
0170 MANHOLE AD	611-2820 JUSTED TO GF	EACH RADE, TYPE 2	5.00	\$350.000	\$1,750.00	\$598.000	\$2,990.00	\$575.000	\$2,875.00
0180 STORM MANH	611-2822 IOLE ADJUSTE	EACH D TO GRADE, T	5.00 TYPE 2, WITH NEW FE	\$550.000 RAME AND LID	\$2,750.00	\$858.000	\$4,290.00	\$825.000	\$4,125.00
0190 LOW STRENG	613-1001 TH MORTAR B	CY ACKFILL, LSM	120.00 100, AS PER PLAN	\$90.000	\$10,800.00	\$71.000	\$8,520.00	\$94.000	\$11,280.00
0200 MAINTAINING	614-1001 TRAFFIC, AS	LS PER PLAN	1.00	\$12,831.000	\$12,831.00	\$6,500.000	\$6,500.00	\$38,000.000	\$38,000.00
0210 WATER VALVE	901-6365 ADJUSTED TO	EA GRADE, PER	10.00 MCES SPECIFICATION	\$150.000 NS, AS PER PLAN	\$1,500.00	\$105.000	\$1,050.00	\$100.000	\$1,000.00
0220 SANITARY MA	902-2002 NHOLE ADJUS	EACH TED TO GRAD	10.00 E, PER MCES SPECIFI	\$250.000 CATIONS, AS PE	\$2,500.00 R PLAN	\$281.000	\$2,810.00	\$275.000	\$2,750.00
0230 SANITARY MA	902-2005 NHOLE ADJUS	EACH TED TO GRAD	5.00 E, PER MCES SPEC, W	\$500.000 /ITH COUNTY PR	\$2,500.00 OVIDED FRAME	\$845.000 AND LID, AS PE	\$4,225.00 R PLAN	\$825.000	\$4,125.00
0240 EXCESS HIGH	915-1203 -EARLY-STREN	SF IGTH (MEDIUN	1,000.00 1 SET), 4"-6" CONCRE	\$3.000 TE FLAT WORK,	\$3,000.00 AS PER PLAN	\$1.000	\$1,000.00	\$0.500	\$500.00

			Engineer's Estimate		` ′	Construction Co. nc.	(2) LJ DEWEESE CO., INC		
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0250 EXCESS COST	915-1302 OF HIGH-EARL	FOOT Y-STRENGTH CEMENT (300.00 MEDIUM-SET	\$1.500), CONCRETE C	\$450.00 URB, AS PER P	\$2.500 LAN	\$750.00	\$2.000	\$600.00
(25 Items)			Totals:	\$	1,265,000.00		\$1,286,945.10		\$1,297,554.60

			((3) Barrett Paving Materials Inc.		(4) John R. Jurgenson Co.		(5) RB Jergens Contractors, Inc.	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
Section 1: Def	ault Section								
0010 CONCRETE C	202-2000 URB REMOVED	FOOT	9,738.00	\$10.250	\$99,814.50	\$10.250	\$99,814.50	\$9.050	\$88,128.90
0020 CONCRETE FI	202-3024 LATWORK REMO	SF OVED (12" & UN	44,580.00 DER)	\$2.600	\$115,908.00	\$2.600	\$115,908.00	\$1.400	\$62,412.00
0030 EXCAVATION,	203A-1014 12" MAXIMUM I	SY DEPTH, AS PER	150.00 PLAN	\$20.000	\$3,000.00	\$20.000	\$3,000.00	\$18.800	\$2,820.00
0040 PAVEMENT PI	254-1000 _ANING, ASPHA	SY LT CONCRETE	57,551.00	\$1.250	\$71,938.75	\$1.450	\$83,448.95	\$1.350	\$77,693.85
0050 Non-trackin	407-2000 NG TACK COAT	GAL	5,755.00	\$2.750	\$15,826.25	\$2.500	\$14,387.50	\$2.150	\$12,373.25
0060 ASPHALT CON	441-1130 ICRETE SURFAC	TON CE COURSE, TYP	1,913.00 E 1 (448), PG64-22 (1	\$66.500 .25")	\$127,214.50	\$74.000	\$141,562.00	\$67.700	\$129,510.10
0070 ASPHALT CON	441-1100 ICRETE SURFAC	TON CE COURSE, TYP	2,741.00 E 1 (448), PG64-22 (1	\$66.500 .5")	\$182,276.50	\$74.000	\$202,834.00	\$67.700	\$185,565.70
0080 ASPHALT CON	441-1000 ICRETE INTERM	TON IEDIATE COURS	1,530.00 E, TYPE 1 (448), (1")	\$62.500	\$95,625.00	\$74.000	\$113,220.00	\$67.700	\$103,581.00
0090 3" DRAIN TILE	605B-1030 E, SCHEDULE 40	FOOT PVC	100.00	\$5.000	\$500.00	\$5.000	\$500.00	\$20.000	\$2,000.00
0100 4" CONCRETE	608A-1051 SIDEWALK, INC	SF CLUDING RESTO	11,612.00 PRATION, AS PER PLA	\$5.500 AN	\$63,866.00	\$5.500	\$63,866.00	\$7.050	\$81,864.60
0110 6" CONCRETE	608A-2051 SIDEWALK, INC	SF CLUDING RESTO	7,312.00 PRATION, AS PER PLA	\$5.700 AN	\$41,678.40	\$5.700	\$41,678.40	\$7.350	\$53,743.20
0113 DETECTABLE	608A-3083 WARNING, AS P	SF ER PLAN	414.00	\$39.000	\$16,146.00	\$39.000	\$16,146.00	\$29.000	\$12,006.00
0120 6" CONCRETE	608A-2161 DRIVE APPROA	SF .CH, INCLUDING	20,274.00 G RESTORATION, AS	\$5.700 PER PLAN	\$115,561.80	\$5.700	\$115,561.80	\$7.350	\$149,013.90
0140 6" CONCRETE	608A-3051 CURB RAMP, IN	SF ICLUDING REST	5,382.00 ORATION, AS PER PI	\$6.650 AN	\$35,790.30	\$6.650	\$35,790.30	\$9.000	\$48,438.00
0150 CONCRETE C	609-1051 URB AND GUTTI	FOOT ER, IN KIND, IN	9,738.00 CLUDING RESTORAT	\$26.600 ION, AS PER PI	\$259,030.80 _AN	\$26.600	\$259,030.80	\$29.400	\$286,297.20
Bid Tabulations	: 02-290 Oak Cı	reek Improveme	nts Phase 3	Page	4 of 7				02/22/2018

				(3) Barrett Pa	ving Materials ic.	(4) John R.	Jurgenson Co.		as Contractors, ac.
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0160 MANHOLE AD	611-2810 JUSTED TO GRA	EACH ADE, TYPE 1	10.00	\$225.000	\$2,250.00	\$320.000	\$3,200.00	\$291.000	\$2,910.00
0170 MANHOLE AD	611-2820 JUSTED TO GRA	EACH ADE, TYPE 2	5.00	\$780.000	\$3,900.00	\$700.000	\$3,500.00	\$608.500	\$3,042.50
0180 STORM MANH	611-2822 IOLE ADJUSTED	EACH O TO GRADE, T	5.00 YPE 2, WITH NEW F	\$1,075.000 RAME AND LID	\$5,375.00	\$1,000.000	\$5,000.00	\$873.000	\$4,365.00
0190 LOW STRENG	613-1001 ГН MORTAR BA	CY CKFILL, LSM 1	120.00 100, AS PER PLAN	\$71.000	\$8,520.00	\$71.000	\$8,520.00	\$163.500	\$19,620.00
0200 MAINTAINING	614-1001 TRAFFIC, AS P	LS ER PLAN	1.00	\$18,950.000	\$18,950.00	\$7,295.000	\$7,295.00	\$30,500.000	\$30,500.00
0210 WATER VALVE	901-6365 ADJUSTED TO	EA GRADE, PER M	10.00 ICES SPECIFICATION	\$120.000 NS, AS PER PLAN	\$1,200.00 N	\$225.000	\$2,250.00	\$106.000	\$1,060.00
0220 SANITARY MA	902-2002 NHOLE ADJUST	EACH ED TO GRADE	10.00 , PER MCES SPECIF	\$780.000 ICATIONS, AS PI	\$7,800.00 ER PLAN	\$550.000	\$5,500.00	\$291.000	\$2,910.00
0230 SANITARY MA	902-2005 NHOLE ADJUST	EACH ED TO GRADE	5.00 , PER MCES SPEC, V	\$785.000 WITH COUNTY P	\$3,925.00 ROVIDED FRAME A	\$1,000.000 AND LID, AS PE	\$5,000.00 R PLAN	\$873.000	\$4,365.00
0240 EXCESS HIGH	915-1203 -EARLY-STRENC	SF GTH (MEDIUM	1,000.00 SET), 4"-6" CONCRE	\$1.000 TE FLAT WORK,	\$1,000.00 AS PER PLAN	\$1.000	\$1,000.00	\$0.500	\$500.00
0250 EXCESS COST	915-1302 OF HIGH-EARL	FOOT Y-STRENGTH	300.00 CEMENT (MEDIUM-S	\$2.500 SET), CONCRETE	\$750.00 E CURB, AS PER PI	\$2.500 LAN	\$750.00	\$1.750	\$525.00
(25 Items)			Totals:		\$1,297,846.80		\$1,348,763.25		\$1,365,245.20

				(6) Adlet	ta, Inc
Line Number	Item	Unit	Qty	Price	Extension
Section 1: Defa	ult Section				
0010 CONCRETE CU	202-2000 RB REMOVED	FOOT	9,738.00	\$8.980	\$87,447.24
0020 CONCRETE FL	202-3024 ATWORK REMOV	SF ED (12" & UNDER)	44,580.00	\$2.420	\$107,883.60
0030 EXCAVATION, 1	203A-1014 2" MAXIMUM D	SY EPTH, AS PER PLAI	150.00 N	\$25.880	\$3,882.00
0040 PAVEMENT PLA	254-1000 ANING, ASPHALT	SY CONCRETE	57,551.00	\$1.310	\$75,391.81
0050 NON-TRACKIN	407-2000 G TACK COAT	GAL	5,755.00	\$2.100	\$12,085.50
0060 ASPHALT CON	441-1130 CRETE SURFACE	TON COURSE, TYPE 1	1,913.00 (448), PG64-22 (1.25")	\$67.200	\$128,553.60
0070 ASPHALT CON	441-1100 CRETE SURFACE	TON COURSE, TYPE 1	2,741.00 (448), PG64-22 (1.5")	\$67.200	\$184,195.20
0080 ASPHALT CON	441-1000 CRETE INTERME	TON EDIATE COURSE, T	1,530.00 YPE 1 (448), (1")	\$67.200	\$102,816.00
0090 3" DRAIN TILE,	605B-1030 SCHEDULE 40	FOOT PVC	100.00	\$13.430	\$1,343.00
0100 4" CONCRETE	608A-1051 SIDEWALK, INCI	SF LUDING RESTORAT	11,612.00 TON, AS PER PLAN	\$8.750	\$101,605.00
0110 6" CONCRETE	608A-2051 SIDEWALK, INCI	SF LUDING RESTORAT	7,312.00 TON, AS PER PLAN	\$9.600	\$70,195.20
0113 DETECTABLE V	608A-3083 VARNING, AS PE	SF R PLAN	414.00	\$1.470	\$608.58
0120 6" CONCRETE	608A-2161 DRIVE APPROAC	SF H, INCLUDING RE	20,274.00 STORATION, AS PER PLAI	\$9.600 N	\$194,630.40
0140 6" CONCRETE	608A-3051 CURB RAMP, INC	SF CLUDING RESTORA	5,382.00 TION, AS PER PLAN	\$13.000	\$69,966.00
0150 CONCRETE CU	609-1051 RB AND GUTTEI	FOOT R, IN KIND, INCLUI	9,738.00 DING RESTORATION, AS I	\$30.530 PER PLAN	\$297,301.14

				(6) Adle	ta, Inc
Line Number	Item	Unit	Qty	Price	Extension
0160 MANHOLE ADJ	611-2810 USTED TO GRAI	EACH DE, TYPE 1	10.00	\$288.750	\$2,887.50
0170 MANHOLE ADJ	611-2820 USTED TO GRAI	EACH DE, TYPE 2	5.00	\$603.750	\$3,018.75
0180 STORM MANHO	611-2822 OLE ADJUSTED	EACH TO GRADE, TYPE	5.00 2, WITH NEW FRAME A	\$866.250 ND LID	\$4,331.25
0190 LOW STRENGT	613-1001 H MORTAR BAC	CY KFILL, LSM 100, .	120.00 AS PER PLAN	\$86.130	\$10,335.60
0200 MAINTAINING	614-1001 TRAFFIC, AS PE	LS R PLAN	1.00	\$1,575.000	\$1,575.00
0210 WATER VALVE A	901-6365 ADJUSTED TO G	EA RADE, PER MCES	10.00 SPECIFICATIONS, AS P	\$105.000 ER PLAN	\$1,050.00
0220 SANITARY MAN	902-2002 IHOLE ADJUSTE	EACH ED TO GRADE, PE	10.00 R MCES SPECIFICATION	\$288.750 IS, AS PER PLAN	\$2,887.50
0230 SANITARY MAN AS PER PLAN	902-2005 IHOLE ADJUSTE	EACH ED TO GRADE, PE	5.00 R MCES SPEC, WITH CO	\$866.250 UNTY PROVIDED F	\$4,331.25 RAME AND LID,
0240 EXCESS HIGH-	915-1203 EARLY-STRENG	SF TH (MEDIUM SET	1,000.00), 4"-6" CONCRETE FLA	\$0.320 Γ WORK, AS PER PL	\$320.00 AN
0250 EXCESS COST	915-1302 OF HIGH-EARLY	FOOT -STRENGTH CEM	300.00 ENT (MEDIUM-SET), CC	\$1.140 ONCRETE CURB, AS	\$342.00 PER PLAN
(25 Items)			Totals:		\$1,468,983.12